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The Distance Formula
Find the distance between each pair of points whose
coordinates a::cfwan Express answers in simplest radical
form and as decimal approximations rounded to the nearest
hundredth, o |
1. (8,7, (1,1) | 2. (5,2),(8, —2)
3 (1,-3),(1,4 4, (1,2),(-5,7
5. (5,2), (3, 10) | 6. (-1, -4), (6, 0)
7. (-3, —1), (-11, 8) _ 8. (-3, -8),(-7,2)
8. (0, -4), 3, 2) 10. (-6, 3), (10, 3)
Iy (1 | - 2 N\ 1
1. (2,3} (1.3) ._ 12. (3 -1)(2 3
13, (V3, 8), @V3, B) L 14, @VE, -1, BVE, 4)
- Find the valus of a if the polnts w:th the given coorﬂmates ane
the mdmated distance apart.
- 18 (-2, -5), (@, Ty d = =13 o 16- '(a,_ ~2), (5, a,_); d =3
17. 4,0), (1, 85d =5 - 18,4, (-3,-2;d = V6l
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Midpoint of a Line Segment
. Find the coordinates of the midpoint of the segment with

each pair of endpoints. _
1. L2, 4), P(6,8) 2, W(6, 4, Z(2, 10)
3. U(-3, 2), (-3, —4) | 4. M(-2, 6), N8, 6)
5 J(12, 3), K(-3, 1) . 8. A(1, -1), B, 2)
7. 3, 0), RO, 4) | | 8. G(0, 0), H(3, -4)
| 9. :;(‘—1, 4), ﬁs’, ;4) 10. (-4, -7), 72, )
11, €8, -8), DG, 4 o 12. E(3, ), F(l%)

If P is the midpoint of line segment AB, find the ooordmates

of the missing point.
1 : 3 9
1. 46,9, P(L —3) 14, B(5, 35 P[5 30)
18. A(1, 5), P(3, 7) S 16. B(2, 11), P(5, 7
17, A4, -1), B(7, —3) | 18. P(—2, —1), A(—3, —5)
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What doesta fishfwithoutleve Jlike?

|To figure out the joke, croes out the letter that matches the answer to each problem.

Find the distance between the two given points.

1. (35)and (6,8) 2. (4-3) and (-1.0)
B, (B-4) and (-1-2) - 4. (-2.0) and (O-4)
| 5 (-3, -4) and (5,4) 6. (-4 and (1.2)

Find the midpoint of each segment with these endpoints.
7. (2.4) and (610) | 8. (-34) and (4-7)

9. (0-3) and (5.0 | 10. (-7, -2) and (-9.9)

Glven the midpoint and one of the endpoints, find the other endpoint of the segment.

. M(32) and E(6.8) . 12, M(-3.7) and E(0.2)
13, M(-24) and E(5,5) 14, M(0,0) and E(-2.2) -
A 5 T R F A 1 W E
©-4) (5 3y V34 (913 282 10 (47 2B 1 3
= %) (z %)
5 c K Y H U R L
( 1 5) V2 (612) Vo @h 2Vio (8- (2-2)
2 .
ANSWER: _
Folygons —Dlﬁﬁanc_a and Midpoint Fcrmulaa . - Joke #30
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sz Distance and Mldpomt

”Fmd the distance between each pair of pomts

1) | Ay 2) Ay
: 1
i J/ L - L.
R 'E// * Sl x
>
¥ \
3) Ay ) : 4) ka«'
o ,3(/
“TET=Z > « _*1,-/3- >
Y ¥
5) (89 _8)3 (_83 _1) p 6) (_6: _4)3 (6) _2’)
7 (-2,0), (-6,7) 8) (1,~4), (=8, 6)

9 (4,0), (-3,5) 10) (7, 5), (~6,-3)
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Find the mldpomt of ¢ach Tine segment.
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Find the midpoint of the line segment with the given endpoints.
15) (1,-9), (9, 6) 16) (-3,-6), (3, -4)
17) (-9,9), (3,9) 18) {4,8), (6, —4)

19) (-6, 6), (9,-1) | 20) (9,-8), (10,-1)
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LINEAR to QUADRATIC

Linear function: BN I“* Quadratic function:
y=mx+ b } y=a+ bx+c
For a Hnear function, if P Fora quadratic function, if
m =2 and b =4, then " a=1 b=2, and ¢ = -5, then
y= . Y y =
a. Complete the table below, . a. Complete the table below,
then graph this function. ' then graph this function.
1 « 2 -3
-3 ' -2
~1
b. For your graph, find: 0
* The slope of the line. : 1
* The y-intercept. 2 :

¢ The x-intercept. b, If x = _%3, find x.

c. Ev oint in the _
: Yy P ¢. What is the connection .-

representsa_________of the between this value of x
- equation. , and your graph?
& For a linear function, if 4 For a quadratic function, if
Y= - S yrT o
» a, Complete the table below,
a. Sﬁeﬁp;;ﬁhéﬁ??fnzggx’ X then graph this function.
EINE
-1
0
. _ 1
b. For your graph, find: 2
¢ The slope of the line. 3
4
® The y-intercept. : ,
¢. For what value of x does _ b. Estimate from the graph:
y=0? . - : For what values of x does

y _ y =07




